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Name / Index No.. WA St -

Universal gas constant R = 8314 1KV mol”  Avogadro constant N, = 6,022 = 107 mal !

Plank constant h=B628 x I07*)s  Speedoflight C=3 % 10*m s

U1, Setect Lorrec] combinmanium rom the below given fist

b o
I 2 3 4 5

Charge of electivn Miliicon | Millicon Plank de Broglie | de Broglie
quantun numbers Plank Plank Millicon Plank Plank ’
Wave- pariide duality of | de Dmglic |de Broglie | Je BroglR Rutherford | Momson
matter
first nuelear model of atom | Thomson | Rutherford | Rutherford | Thomson Rutherford
e/m ratio of cathode mys Rutherford | Thomson | Thomson | Millicon Millicon

02. Which of the following election transmission has the highest cnengy. Within the visible range ol line spec-
trum of atomic hydragen (n= principle quantum number)
Mm n=4-—=n=I s n=5—=n=|
:“} n=2—n=l s n=5-n=12

(5) n=4—n=2
basic electron pair geometrv and — shape derived from it is,

«2) Tetrahedral — bent
v (4) Trigonal bipyramidal - lincar

03. Correct combinalion representing
(1) Planar triangular — bent
(3 Tet rahedral — pyramidal
5) Trigonal bipyramidal - pyramidal

04. Cormect [UPAC name af the below given compound is,

Cl
=il
(@i crdetion
[({{} E-elhyl-z-chluruhm-]-]rnt-I-ul
I Z-Fhlnrnﬁ?.—cihyl-]-ynul
5) J-:hlnrn—.‘l-cihyl-d-hydrunybut- l-yne

(2) 2-chloro-2-cthylbut-3-yne-1-ol r
{4) 3-chloro-3-cthyl-4-hydroxy-1-butyne

\
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0S.) Molecular formula of the simplest unsatursted hydrocarbon which show enantiomer is m and dinstercsmerism
o CH, 2 C,H, @ Cll, @ CH, (5) CH,, :

06. Ammonium salt which emit a gas upon thermal decomposition which is neither NH, nor N, is,
1 NHNO, (@ NHNO, @) (NH)CrO,() (NH),SO,  (5) (NH).CO,

07. Hydration enthalpy of X(s) and molar entropy of X(aq) nespcefively are ?ﬂ J K mol! and +170 J K

- mol ' Molar entropy of X(s) m(]h'mul ) is, oo b o
g +240 §2) -24 g0 (H+100 f{f} -100 -

08. Volume of 1.0 mol dim? HCl in cm? needed ta titrate with a mixture of equal volume of 1 moldm™ NaOH and
2moldm” KOH with a total volume of in 25.0 cm” the presence of phenolphthalein as the indicator is,
(n 125 (2) 25 (N 375 (4) 38 (5) 45

09. Solution of (NH,), SO,.FeSO, has 560 ppm value of Fe*: SO,(ag) conantration in this solution in mol
dm?is, ( N =14, H=1, §=32, O=16, Fc=56)

YR TR, Y OUEE WP A 1)

I (%1

10. Possible temperature and pressure ratves for H, gas. needed 1o display Ideal behaviour.

() 100K, 1x10°Pa (2) 1000K, 1x10°Pa

(3) 1000K, 1Pa 4) 15K, 2x10'Pa (5) 25K, I x10*Pa
i1 Cormrect IUPAC name for, K [Fe(CN)] is,

1) tetrupotassiumhexacyanidoferrate (11) L:] potassiumhexacyanidoferrate (TI1)

(3)  porassium hexacyanidoferrate (II) (4) tetrapolassiumhexacyanidoiron([ll)

(5) 1ctmapotassiumhexacyanidoiron(IT)

12. Possible reaction via H goup is

/C\
(1) nucleophilieaddition (2) electrophilic substitution
(3) electrophilic addition {4) elimination () . < * - hydration

13, Incorreet statement regarding CH CH=CIICH,CHO s,
(1) Decolorizes the purple colour of acidic KMnO,
{2) Decolorize Bromine water
E} .Forms a dark yellow precipitate when heated with 2, 4, - DNP
{1‘_ Abore molecule Is formed by Bromination followed by dehydrobrominatiog
{5) Showy diastercomerism.

14, Incorrect step in chiorination of methane s,
() 'EJ’H_,\l(—\lfll, — CII,CH, L 'ﬁl\‘(\t‘l —_— c|‘-| Cl
Iy Rl ¢l — 20 ) ,:::\/-I:\‘ —+uij+ al

—

A9 H,C!.Wﬁ —— CHCI+HCI

\
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1S Consider the following compounds )
onl C1,COON CH CH~CH, CHCHCH,
& !
A H C D
Correct onder of increasing acidity of above given compounds is,
() A<P<C<D () A<C<p<D
M D<C<A<B 4) D<A<BeC (f) C<A<D<D
16.  Which of the following is not a possible strusture in nitration mechanism of Benzene
tm + _H 2 H I L] H 5 NO,
Ko, = o, ™ Cro, ~ T,
17.  Molecule which has the shaps similar to that of POCI, is, i
e I'I'i‘ I -1|' 5 b & W " "__I ] "
18 Correct oder of increasing radii of Ne, Mg*, Al", Cl |
(17 Al <Ne<Mg™ <Cl (2) Al™< Mg* <Ne<Cl
(3 Ne <Al" < Mgt <l (4) A" <Mg™ <Cl <Ne
8y Mg" <AI" < (1l < Ne s
19. Compound which release gaseous products only upon thermal decomposition is,
(1) KNO, (2) (NH),Cr0,
(3) IS0, (4) M(NO), (5) (NH),CO, i
70. Which of the following statement is true reganding the compressibility factor (z) for real gases.
(1) Value equals to 1 all the time.
(2) wvalue is not similar to 1 all the time.
(3) Value merely equals to | a1 low pressure and low temperature condition.
(4) Shows u positive deviation with pressure all the lime. §
(%) Value of Z merely equals to | at low pressure and high temperature condition.
—
21.  Which of the below given molecule has zero dipole moment.
(1) HS (2) O, (3) CHCL (4) SO, [ORILY
22. e Broglie wave length for a particle with a mass of 1.67 X 10** g is 122 pm. The travelling speed of the
particle inms" is, (1 pm = [0 m)
W 1.50x 10' () 650x10°  (3) 3.25x10' (4 LMx100 (5) 2.25x 108
23 Successive ionzation energy values of element A is given below in kJ mol-1
IE, IE, iE, IE, IE, IE,
1012 1907 2914 4064 6274 21267
The group of element A belongs is,
(1 5 (2) 6 (3 14 gﬂ 15 (5) 16
b= — — J
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24.  Compasition of Crin a water sample is 1.25 ppm Cr composition of the 'Ilhntﬂﬂn:p_:;"::;:dm )
(1) 300x10° (@ 240x 10" (3 650x10° (1) 125 x 107 ) L
25, Compound which forms a white participate with excess water is, e
(1) BiCl, (2) AICI, (3) scl, ) Pl &) S
26.  Characteristic type of reaction in alkene is ! )
(1) Electrophilic addition (2) Electrophilid Substitution
“{3) Elimination (4) Nucleophile addition /
(5) Acid - IJase reaction J
{
27.  Consider the following reaction scc[untt
{.'II CH, (CH,
@ @ .
Ll [ TP O s B B ) r
0 LHAN, o, CH, CHCH,
Correct order of reagents used in X, Y, Z respectively are,
(1) CHCH,-C-Cl I CMgBr ,  anhyclrous ALO,
— anhyclrous AICI, ii. dry et » A
(2) CHCH-C-CI i. LiAIH, 3 Concentrated H SO,
~ anhyclrous AICL, ii. dry ether A
(3) CH,CIi- Ll - Cl L CHMgBr anhyclrous AL,O,
=— anhyclrous AICL, ii. H'/H,0 A
]
(4) CHCHLCI L. CH,CHBr , anhyclrousAlLD,
anhyclrous AICL, ii. Mg/ dry ether A
(5) i. CH,CIL-Br I. LiAIH, J Concentrated 11,80,
-+ g1, Mg/ dry cther iil. /10 A
28. Which of the following couple forms a white precipice upon mixing with each other
(1) BaCl(aq) and KOH(aq) {_2_1" MgNO,(aq) and K,SO, (ay)
(3) MgCl(ay) and NaOH(aq) |‘._4_} dilute 1,50 (aq) and Na,CO (aq)
_T_.'E} DaCly(aq) and K,CrO (aq)
29, . Species which does not show bleaching action is
(1) H,0, 2) 50, (3) NaClO,  (4) HOCI %) cl,
N
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Yessel A contains I, gas 2 Ratio of rool mean square

and vessel B containg O, pas a1 327 ¢

1Wﬂfﬂl‘mﬂt}= gas is L"C”./:‘.';“ (O=16, C=12, H=1)
]
. \
= 4l @ 2:1 (3 1:2 (4) 1:1 (5) 1:4
. Summary of Instructions from question number 31-40
! 2 3 4 5
Only (a) Only (b) Only (<) Only (a)
And (b) And (c) And (d) And(d) | any other num-
are are are are ber of combina-
correct correct correct correct | Hon of respans-
o _ e4 correct
3. Which of the following statement’s is { nre true,
(a8) strongest acid is | IClO, (b) HCIO, acid can not act as a reducing agem
(M) Out of all weakest acid is HOCI # (e} Oxidation number of C| In HCIO, is +6 |
32, Which ofthe following statement / s i/ are true reganding chemical renctions ]
(a) AS> O for all spontaneous reactions :
(b} AH > O for all spontanecous reactions [1‘”
(¢} AG = O for all a reaction at equilibrium -
(d) Rath AH and AS for forwand and back ward resetions cither positive or negative for a reaction
equilibrium, -
3).  Which of the following statemenVs is / ane incorrect,
(3) Alkyl halides can undergo nucleophile substitution as well as elimination reactions.
(b) Characteristic reaction of alkenes and alkynes is electrophilic addition. ‘-E""
(c) Characteristic reaction of benzene is electrophile addition. «
(d) Benzene can undergo electrophile substitution reactions under harsh conditions
34, Which of the following reactionf generate sulphare as a product
(a) Adding diute HCI into aqueous sodium sulphide +
(b) Adding dilute H,80, acid into aqueous sodium thosulphate “,‘N
(c) Bubbling H,S gas through aqueous iron(!l1) solution *
(d) Reacting .S and S0, gnses topether.
35, Which of the following stalemenl/s is is/ are correct,
(a) Titanium can form compounds with + IV oxidation state, «
{b) Oxidalion state of Mn can be changed from +7 to +6 and +4. « ﬁ
{e) All titanium compounds are colourless .
(d) Pichromate ions react in niknline medium to form chromate ions,
i llowing set/s. Has have a maolecule with an unpaired election. i
RN Dmf e €) SO,11,50, HNO, (d) HCL HCN, SO,
(a) NO, CC Iu CD‘.‘ : ‘b} NDI' IIIS" 01 - (© ¢ Ll ’ . :
a _J
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38.

3o,

Correct response which include acidic and basic oxides only
(1) CO,K,0.50, (b} Zn0), NO,, NO
(¢) MnO_ALO, BeO (d) SO, Na,0O, MgO

Which of the following statement’s is always correct regarding (CH,), - C - OH .

(a) It gives an instant turbidity upon addition of anhydrous ZnCl, and concentratal HCI

(b) It doesn’t react with agueous KCN ~ [

(c) It doesn't react with aqueous NaOF F ' £
o -~ ;

(d) It doesn't react with aqueous CH, & — 11

Correct response/s including non- polar molecules only,
(3) CO.CCl,. SO, (b) BeCl.BF, BCI,
(c) NO,. HCL PCl, (d) HNO, NH,SO,

2

L R [ Wy S S 1

ey Pyl v )
(a) Decomposition of H,0,
(c) Reaction of I1,S with SO,

(b) Hydolysis of NCI,
(d) E.:actiunnffl._,guuhhﬂnﬂll

4

Seummary of lasti uction from question nnmber 41 -50

Response first statement | Second statement :
| True True and correctly explans the first statement
2 True True but does not explan the first statement
correctly

3 True False

4 I'rue True

5 True False

First Statement

Second Stalement

41. Viny 1 halides as well as aryl halides do not show
nucleoprhile substitution reactions

C-X bond in Viny | halides and Aryl halides carry
partial double bond narure peav

A2 lhighest melting point is recorded in Mn among
clements 'rom S¢ - Zn

5 Is a tranvition element

w

13 Equal volumes of €O, and N, gases at 150 K and
10 atm carry equal number of modecules.

Equal valumes of diffrrent gases af Lontant HHI

frmperature and constant pressure carry vpual numbsey

ool ey ules

44 Filter paper woaked with HY/ K, Cr O, can be used
o distinguish SO, and 1S gases

H.S = well as 8O convert codous of H o/ K Cr O, trom

Ulramge to green w

\
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Methanalic NaBH, converts
ot
L]

(.‘z'H,?‘H — C H,CH,OH
o

(0]

- € - H group is reduced to ~CH,OH by NaBH, since

it is a reducing agent mw

During thermal decomposition of NH,NO..
N.O gas and H,0 vapar are formed

Ammonium salts are ionic in nature and thermally

&

decompose casily

BaC.0, do not dissolve in water but dissolve
in dilute acids

C,0,% ions are removed as [1,C,0, in acidic medium

Correctorder of increasiog acidity ol hiydiogen
halide is HF < HCI <1IBr < H1

Corecl wider ol increasing bond Jength 07 Liydrogen
halide is HF < HCl <HI < HBr w

H3 S has the miniium boiling point out ol H,0,

' 'nz-‘!. gD al by e

Secondary interactions among H_S molecules are |

(L

Ty T B Y YRR R |

Silver mirror is formed when C H,-C=C-H
react with smmoniacal AgNO,

Silver mirror is formed as a result of reduction of A+

Tanh

ion.

 S—

Craa

WWW.PastPapers.WIKI

_— : o }
Past-Papers-Wiki---Most-Extensive-Wikipediaof Past Papers!

IJ TRNTTY VS LUFcd - AR

Cromiiry |



https://pastpapers.wiki/
https://pastpapers.wiki/
https://pastpapers.wiki/
https://pastpapers.wiki/

- 7- Sripales College - Horana
~

(Bogs EBo8 =m0 /All Right Resened

vidvilava oh v chomastn Sripal

L-:::T‘:;; aaJhonmnsy G'C"E' Ad\'ﬂﬂch I"‘E‘.El Elﬂi‘uiﬂlnﬂ“ 202‘3 maistey Siipali Vielsa

393 Femaiey Nopa Sripalee College - Horana 1y Srpall Vidvalas
i Vdvalasa chem

STl SRR N

ey Seaeals Vidvalevs cheristey Sroal Vil st s oheomstey Sopan Vibvalaeg chimibstry Sespali Vidvalava  hennshiy
paa Vdvalava chem : . alass che ;
by - J‘.Jl-t 3 chwms First Term test - 2023 A.pl"ll valava chomustes Sripal
Foads g chomstes G chemrst=y Stapal Vidva
1y | pr— — - iy Srioal by hemstew Seipall Vidy et Specals LU gy

U Vidvalaya o n

valava chemuste Three hours :

i C‘I.In.nisu.,. ” R ik

s Sal Vidaa

o Answer zll questions.
Part B - Essay

0s.(a) Uiil:lg_hﬂuwgivmd:tldmw a Born — Haber cycle to calculate standard Lattice formation enthalpy

AHZCa_) =178 M mol*

ﬁl-l';l":a") =591 kJ mol”
a}-l’lzrr_'.a‘w; = 1145 kimeol!
ﬁ!l';{CI_.,.) I =343 k) mol!
.:..'rqm{CIw! =.349 I mol*

AHICaCl, ) =-795 kJ mot!

(b) Write bolanced equations Lo show following enthalpy changes.
i Standard enthalpy change of hydration of sodium ion.
Srandard lanice formation enthalpy chonge of Lithium Fluoride.
; 0

ii. Standard enthalpy change of comibustion nfCII,-f'.'-CI 1N
iv. Standard enthalyry change of bond dis aciation of fluorin
v. Stsndard enthalpy change of atomization of chlorine

vi Standard enthalpy change of vaporization of water

vii, Standard cnthal, 7 change of Suniimation of o ne

viti. Standard enthalpy change of fvrmation of (NH,),50 (5}

T —

() How would you identify the following two solutions
Cr(ag) solunon and €O {ag) souwtion

-
n6(a) i NH, and O fg) react with each other forming NO(g) and H O/ under standard
Condittans write balanced ¢hemical equation for this reaction




8 Sripalee Colleqge - Horana

li. Calculate AH.? for the above reaction w
H° (NH (g)) = 46 kJ mol"
H° (NO(R)) = 90K mol
HALO(N) = -242 k) mol
(b) Write balanced cliemical reactions by identifying the correcl products

)
i. I.i{s}+N:lg) —_— " . :* ok
i Limrnon —— : 4
7
iii. t?:"e.'Hi +H M) ———
) -
: {
iv. Na?”?,_:; qur”‘l —_—
v. AlLO(s) +NaOlling) —»
vi. BeCOs) -
vii. LINO(s) T
Wi NJ‘H CD]L;} a
ix. (NH,),Cr,0(s) S
x. LiOH(s) . N

(c)i. Write molecular kinetic equation and identify the terms.
+ s 10 i : Using ideal gas equation und above equation derive a relationship to calculste n cun square speed
of a gas. ) _ o N
fii. Using the equation derived in (i) above calculate C? w0, ¢ c? My (C2 m,/cl "z]

07. Reactions of compounds of a 3d elemnt are given below.

B
A C D
——— + F
fa
L]
Ciree 1 renidue Meutral gas
NatH
E § =
1o f '
+_Ll— ot 1

i. Identify species [rom A—F

il.  Write balanced reaction for heating A

iil. Write balanced reaction for | reacting with 11,0,

iv. Write-balanced resction for A converling to E by adding NaOH

\_ - »
‘Grad. 13 Tmm Tost 2023 - Apal - Cremisty 1
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(b} Write Formula of oxides of the third period elements with their highest oxidation states.
Classify them considering acidic. basic or amphoteric nature,

(<} Rusted ion nall was treated with excess dilute H ,S0), acid nnd the final volume was brought upto
i 230 em' by adding water 25 cm’ from this selution was taken and reacted with 0.02 moldm ' KMnO,
solution used volum of KMnO, was 20 cm’

Another 25cm" portion from the above solution was taken and SO, gas was bubbled initially and

excess £0), was remaved by heating the solution. This solution was ageing titrated with the above
KMnQ, solution and its volume was 60 cm'.

i, Write balanced ionic reactiun for the reaction between KMnQ, and Fe®.

ii.  Calculate mass of Iron which did not undergo nusting.

iii. Calculate mass of Tron which undergo rusting.

e Ll ulabe sl tinss ol il vkl b

08. (a) Carry out the following conversion using the below given reagents by not exceeding 5 steps.

ot
CH,C=C-1{ . . CH,-C =C-C-COOH
: y CH, il M, |

List of reagents
HCN, dilute 11,.SO4, NaOTl, 1,0, HCN, H,50,

NO,

) @—cr[,t;ﬁ;-rld—@—wu,
H H

i.  Identify the reactants needed 1o synthesize the above compound.
li. What is the colour of the sbove com pound
lii. The product obtained In above pan (i) is used to identify an importani group of compound in-
organic chemistry. What is thal important \ype of compound.
iv. What iz the nane of the reagent used to identify the above unpurtant group of compound.
. (e} Complete the below conversions by not exceeding 4 steps.

. NH, Br

© —~@L

. COOIl
i

ol

|

CH,CILON —= CH,-C-CH,CH,
CHCH,

iil. Acldity of phenol is higher than that ol alcohols Explain this

e
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